Application of the Mean Value Theorem


A car is stationary at a toll booth.  Twenty minutes later at a point 20 miles down the road the car is clocked at 60 miles per hour.  Explain why the car must have exceeded 60 miles per hour at some point after leaving the toll booth, but before the car was clocked at 60 miles per hour. 

Optimization Problem

The operating cost for a certain truck is estimated to be 
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cents per mile when it is driven at a speed of x miles per hour.  The driver is paid $14 per hour.  What speed will minimize the cost for the company of making the delivery to a city c miles away?  Assume that the law restricts the speed of to 
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